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Dividiere schriftlich.

 Aufgabe 1    450,37 : 0,317  = ____________
 Aufgabe 2    111,62 : 1,75    = ____________
 Aufgabe 3    75,724 : 0,857  = ____________
 Aufgabe 4    625,497 : 2,01  = ____________
 Aufgabe 5    895,148 : 1,95  = ____________
 Aufgabe 6    74,603 : 2,899  = ____________
 Aufgabe 7    866,084 : 2,484 = ____________
 Aufgabe 8    177,942 : 2,446 = ____________
 Aufgabe 9       88,72 : 0,035 = ____________
 Aufgabe 10       42,53 : 1,18 = ____________
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Dividiere schriftlich.




Lösungen



Aufgabe 1    450,37 : 0,317   = 450370 : 317 =1420,7256
Aufgabe 2    111,62 : 1,75    = 11162 : 175 = 63,7829
Aufgabe 3    75,724 : 0,857  = 75724 : 857 = 88,3594
Aufgabe 4    625,497 : 2,01  = 62549,7 : 201 =311,1925
Aufgabe 5    895,148 : 1,95  = 89514,8 : 195 =459,0503
Aufgabe 6    74,603 : 2,899  = 74603 : 2899 = 25,7340
Aufgabe 7    866,084 : 2,484 =866084 : 2484 =348,6651
Aufgabe 8    177,942 : 2,446 =177942 : 2446 = 72,7482
Aufgabe 9       88,72 : 0,035 = 88720 : 35 =%2534,8572
Aufgabe 10       42,53 : 1,18 = 4253 : 118 = 36,0424
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Dividiere schriftlich.


Aufgabe  1       223,75 : 0,609 = ____________
Aufgabe  2     611,775 : 0,415 = ____________
Aufgabe  3     417,126 : 0,221 = ____________
Aufgabe  4       651,86 : 0,586 = ____________
Aufgabe  5     459,972 : 1,266 = ____________
Aufgabe  6        824,18 : 0,99 = ____________
Aufgabe  7        515,05 : 1,76 = ____________
Aufgabe  8     298,306 : 1,621 = ____________
Aufgabe  9       385,394 : 1,91 = ____________
Aufgabe 10        136,33 : 1,09 = ____________
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Dividiere schriftlich.

Lösungen

Aufgabe  1     223,75 : 0,609 = 223750 : 609 = 367,4056
Aufgabe  2     611,775 : 0,415 =611775 : 415 = 1474,1567
Aufgabe  3     417,126 : 0,221 =417126 : 221 = 1887,4480
Aufgabe  4     651,86 : 0,586 = 651860 : 586 = 1112,3890
Aufgabe  5     459,972 : 1,266 =459972 : 1266 =363,3270
Aufgabe  6     824,18 : 0,99 =  82418 : 99 =832,5050
Aufgabe  7     515,05 : 1,76 =  51505 : 176 =292,6420
Aufgabe  8     298,306 : 1,621 =298306 : 1621 =184,0259
Aufgabe  9     385,394 : 1,91 = 385394 : 1910 =201,7770
Aufgabe 10     136,33 : 1,09 =  13633 : 109 =125,0734
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